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|, WETOTR &1 378 Wefetdeh! shI0edT Sehiia 318 dl fHaer ?

A) feramg B) ferafasiso C) drgaed D) 91
2. T AR il T e ST, Q

A) fad Affien semaa B) aﬂmwgﬁ@

C) UEUAH! TS SR D) muqﬁ’w@aw
3, WeAlcih! ST\ ITsg HATesdT.
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. TS, et et gean e ? siuitea vwsar s shea.
A) SNt 375y B) %mﬁﬂwm
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AUEUT - IT SHAHRI YTeare @Ichierdehl 372 shior 7

A) refefior qrater HTor B) @Ed SITUTR T4

C) % TSTE FOF D) @S9 HTevl

A) T ST hedt I B) 31T SaqST I grdl.
C) I3 FHYST hlTd 3. D) T8 ST I TR,

Name the correct clause bracket in the given sentence.
He is (much) obliged to you.
A) Noun clause B) Co-ordinate clause
C) Positive adverb clause D) Adverb clause of reason
Name conjunction from the sentence :
Ganesh does not care whether his wife goes out of home.

A) whether B) his C) outof D) care

Nothing else travels so fast as light (Make comparative and choose correct answer.)
A) Light is traveler than any other thing B) Light travels faster than anything else

C) Lightis faster traveler than nothing D) Lightis travelers faster as anything
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19. Pick up correct sentence.
A) When the meeting been start ? B) When the meeting would start ?
C) When the meeting will be starting ? D) When the pieeting will start ?
20. Choose the word from given words to fill in the blank to make the sentence meaningful.

No sooner he arrived then everyone . ~up in his honour.

A) stood B) stands C) stand D) got

21. Complete the sentence by using a word from the following words :

The cashier the money and signed a receipt for it.
A) collects B)4,;ﬁegépts C) counted D) receives

22. Choose the correct pasSivevoice from the following sentences.
A) He was givenagift by Rita B) He gives a gift by Rita
C) He gaveagiftby Rita D) He was giving gift to Rita

23. Choose the'group of words which is most nearly the same in meaning as of the word :

Revolutionize
A) Affectadversely B) Develop gradually
C) Change drastically D) Illuminate completely

24. Which is correct use of adverb ?
A) Honey is very sweet B) Honey is too sweet

C) Honey is so sweet D) Honey is much sweet

25. Which is correct use of preposition ?

A) She is married with rich man B) She married with rich man
C) She is married to a rich man D) She had married with rich man
g
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30.
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She is working in an exclusive male dominate domain. How this sentence can be written

by removing gerund ? Select correct from following. %'
A) She work in an exclusive male dominated domain”
B) She works in an exclusive male dominatéd.demain
C) She worked in an exclusive male dominated domain

D) None of these are correct

Rewrite the sentence by using proper conjunction.

Mohan was young, he went to Africa.
A) ButMohan was ‘j,;m;ng, he went to Africa
B) When MohanWas young, he went to Africa
C) ThatMohan was young, he went to Africa

D) Hardly Mohan was young, he when went to Africa

Choose correct Tense Form that is used in the following sentence.

We had been playing in the park.
A) Past perfect continuous tense B) Past continuous tense

C) Present perfect continuous tense D) Past perfect tense

Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport

Which is correct use of verb ?
A) My brother lived in Mumbai since 1930
B) My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930

D) My brother have lived in Mumbai since 1930
o
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61. The main mediator of platelet adhesion is

A) Van Willebrand’s factor B) Thromboxane A,

C) ADP D) Fibrong{\'ﬁ’e

T TS T HEAEd hivl ? -

A) =84 farersugy w2k B) ASIEHA,

C) wEidt D) SR
62. LEcellisa > Q) ¢

A) Basophil B) Neutrophil=, (C) Lymphocyte D) Macrophage

LEUsf 312 NN

A) saiftect B) ggifter/ C) feremEmEe D) Hehihst
63. Lymphocytosis is found in all BXCEPT

A) Mumps B) Diphtheria

C) Rubella ‘ D) Infectious Mononucleosis

mm@mmm

A) TS (F9) N B) feafen

', C) ®&am O D) @ghiHeh A fasireie
;_ 64. Myeloma. ecﬁs are produced in the :

A) ,L% B) Spleen C) Bone marrow D) Lymph nodes

TR Aol AHES AR BraTd

A) IFd B) wfter C) 3fe sl D) SR Tt
65. In myocardial infarction CK-MB reaches to normal levels in

A) 24 hrs B) 72 hrs C) 1 week D) 2 weeks

TRIIHITEAT Shiained Hish-Twafl TEl T S g e

A) 24dE B) 724 C) 13m3ael D) 2 3eas
66. In Alkaptonuria there is a deficiency of

A) Homogentisic hydroxylase B) Homogentisic Acid

C) Phenylalanine hydroxylase D) All of the above

=t SHaLan .

A) TS TGS B) B vHie

C) HATAATHTEH B Rierst D) afierdehad
67. Which virus is not transmitted parenterally ?

A) HBV B) HCV C) HIV D) HEV

ahiorar ferv) Tttt waTia B e ¢

A) HBV B) HCV C) HIV D) HEV
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68. ELISA test may be helpful during the diagnosis of diabetes mellitus to estimate

A) Glucose B) Glycogen C) Insubn D) Insulin receptor

ELISAW____WWWWW%W

A) THIS B) TS CL&vetH D) 3vgel et
69. Glycosyleted HB is estimated to

A) Screen diabetes mellitus , B) Diagnose diabetes

|

C) Evaluate Glycemic control D) Find out complication in Kidney

A) TYHETEN B AN B) mywer fFem
C) wawa;ﬁaaﬁaawn@m D) frefmeier sidterar e
70. The most reliable pgtg.raetar :0 evaluate iron status in the body is
A) Serum iron level B) Serum ferritin level
C) Serum transferrine D) Total iron binding capacity
SR Te SRS S TevaTaTd) Tatd s fHewTes sivrr ?
A) ooy e = B) T %ida
C) Formgrasi D) 2ree 3 mg@’fnm%a
71. This enzyme level in serum increases after heart attack
A) SGOT B) CPK-MB C) LDH D) All of the above
formefier 21 Traen T geaTe FedHa aedl
A) SGOT B) CPK-MB C) LDH D) alierdehiad
72. Vit.K dependent coagulation factor are all EXCEPT
A) Factor 11 B) Factor VI C) Factor VII D) Factor X
feRe. K starislia deheid Beeh Wieicish! U a7esdl §d 3TTed
A) "HH 11 B) ©Z VI C) ¥Zsh VII D) ®Zs X
73. A clinical laboratory may have the following sections
A) Clinical pathology B) Biochemistry
C) Microbiology D) All of the above
fashicaTerfi wamIe e @refia o sy wehdrd
INREEIESRRISIE] B) SR
C) HRShISTTeATSH D) alleehad
74. Which samples are processed in routine clinical laboratory ?
A) Blood B) Stool C) Urine D) All of the above
10T T Rt fesfteaerfi semees e ke sheft s ?
A) T B) He™ C) @A D) afietehiad
-
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75. Inserological diagnosis which of the blood collection tubes are used ? 1

A) Plain B) EDTA C) Fluoride D) Heparin
A) @ B) EDTA C). KES D) zdfa
76. How much blood is required for VDRL test ?
A) 3ml B) 8 ml C) 10 ml D) 20 ml
VDRL Sr=viigre! fordl T stavass g4, ?
A) 3 freft B) 8fisdl ( C) 10 foeft D) 20 fosft
77. “Standard precaution” are necesSaryto be observed while handling which of the following
samples ? W\“
A) Urine B)Blood C) Stool D) None of the above
Grefferteh! h1Td TERgTresaiT * grmfta Graafit=’’ e o sty s ?
A) oA " B) T C) He™ D) iRl hrae A1t
78. Which of the fOllowing disease are transmitted through blood ?
A) Hepatitis B B) Hepatitis C
C) HGW D) All of the above
AT FHIITT TSR ThIHE SR Bl ¢
A)-RIfwB B) fedfdmcC
O HIV D) afteehl e
79. Which of the following protective barriers should be used while handling blood in the
laboratory ?
A) Mask B) Eyeshields
C) Gloves D) All of the above
TATTRIGEHE T2h BATasd ST W IeTdeh! oh VT UaTeeh ST I Sudere g 7
A) AT B) IMfce
C) &St D) =l ad
80. You can do which of the following activities in the laboratory ?
A) Drinking bevarages B) Eating vadapav
C) Chewing gum D) None of the above
T TR d Wiefterteh shoTedT et s wrehar ?
A) 97 fuor B) 9 @l
C) T JE0 D) SAdeh! hIvrdet ATet
81. The refrigerator works in the following temperature range of degree celsius
A) 2-8 B) 8 -20 C) 20-37 D) 37 - 100
THISRE Wiefterdeh! shiorean feuft siemrean towed &/ sl 7
A) 2-8 B) 8-20 C) 20-37 D) 37 - 100
19
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82. If the pH of the solution is neutral then the pH will be

A) S B) 6 £ 7 D) 8
ZEVTE pH e ST pH S8
A) 5 B) 6 C J D) 8
83. Infectious waste is discarded in which bag ?
A) Red B) Blue C) Green D) Black
T el Sh1uTedT eI e et ¢
A) 1A B) fea Q)R D) ®E
84. Dengue is transmitted by
A) Contaminated water B) Blood transfusion
C) Bite of mosquitos ) D) Bite of sandfly
g AT ST Bl
A) GshTHeh Toft B) GhIEH
C) He3t ==l D) STeH iRt JmEo
85. Widal test is done for the diagnosis of which disease ?
A) Weil’s disease B) 1B C) Cholera D) Typhoid
frerer el @reetieh! S o ST e HoarETd! Fel S ? :
A) 379 TR B) TB C) shiea D) TEBIES
86. The working table of the laboratory should be cleaned and disinfected using
A) 2% Glutenaldehyde B) 20% Sulphuric acid
C) 1% Sodium hypochorite D) 2% Betadine
TIRTSTIES A ShTH AT SsTel ST Eos T Fsfgeh shumett & ?
A) 2% TIACRERS B) 20% Wewglish THIS
C) 1% HIErm SHIIhRIES D) 2% SIS’
87. The glassware in the laboratory
A) Must be cleaned after use B) Sterilized after cleaning
C) Should be handled with care D) All of the above
TR HE I hrered S .
A) ITRHT s HUETE g1 B) Twaa-at (Hsiqeh HUEe g
C) HiesslyEsh TR 8 D) Rietehiad

88. Routine hand hygiene should be performed in which of the following condition ?
A) Before and after contact with patients
B) Before washing and after removed of gloves
C) After contact with blood of the patient
D) All of the above

wTefierieh! Foren ferdned Fravia erar Tesdr s g ? .
A) ETTET BT e 3T 9 Fat B) T} STfvT Tefies shgedHat
C) T THIAT BT AT Ha D) SRt e

o
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89. Which colour bag is used for non-infectious waste ?

A) Yellow B) Red C) Blue D) Black
STHHTHP FAFTS! SHIUTeaT TT ST ST SHET ¢ .
A) foEest B) @& C) fier D) T

3
90. Regarding bio-medical waste handling which of th€féllowing is not correct ?
A) All waste can be collected in waste contaiper™
B) All waste should be segregated '
C) All waste can be collected in black:ha‘gb
D) None of the above (‘

ST - el T FATEAT e R e T A AT 7
A) T FHET FHESHE el ehell SIS Yehdl

B) ﬁmﬁuﬁamﬂr

C) Hd =T e SIHER ST el 1S Yhal

D) atiertiehl HIREIE
91. Temperaturesonu:ol is very important in this instrument
A) Incubg?ors\ - B) Centrifuge
C) Mieroscope D) Fluorescent microscope
T IHSHOTHEY 19 501 $R AeEm 3Ed
A) TR B) HJHS
C) HREHEhY D) WIS AR
92. After exposure to blood the PEP should be started within
A) 2days B) 2 hours C) 6hours D) 24 hours
THTEAT JREAFAL Fgeft M 1] R 8.
A) 2 feaw B) 2d® C) 6d™ D) 24dH
93. Which of the following is a carbohydrate ?
A) Glucose B) Fatty acid C) Amino acid D) Cholesterol
Welieeh! SV SHETEHESE 3R 7
A) TR B) Wl UHIe C) WA D) el
94. Which disease is spread by mosquitos ?
A) Jaundice B) Anemia C) Typhoid D) Malaria
HSUes VAT STTSTR TETd! 7
A) e B) WigH C) TABEE D) maifta
-14-
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95. Oilisa

A) Protein B) Fat
C) Carbohydrate D) None of these
oA .
A) IEH B) TE
C) HEEEES D) SR shTore ATl
96. Sugar found in DNA is
A) Ribose BY“Glucose
C) Deoxyribose D)« All of the above
DNA A& ATGeATRI TR 3R
A) TS B) RISt
C) et D) sRictuehiwd
97. Energy store house of the celis
A) Nucleus B)Golgi body C) Mitochondria D) Lysosomes
Uil 3T ATEe e T I 7
A) 3 (FFA) B) et fue C) HESEhSAT D) fiEmma
- 98. Essential fatty acids are found in
A) Proteins B) Fats
C) Carbohydrates D) None of these
T %l THIE AT AL ATeesdrd
A) WA B) WE
C) FERRISH D) S{iciuehl shivdea! ATt
99. Deficiency of haemoglobin causes
A) Jaundice B) Anemia
C) Typhoid fever D) All of the above
et st e T Hed ¢
A) e B) TIgM
C) TEHES a1d D) aliatehr ad
100. Deficiency of insulin causes
A) Diabetes Mellitus B) Anemia
C) Jaundice D) Hypertension
TR A A T8d 7 _
A) AR B) diglm
C) eles _ D) 3IrdiharE
e B
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1. SiF=m UrRot fheol -1 ares=rET 3 31 FHeet.

A) GHTHF B0 B) OTe GHTHH B0l

C) I HE D) @YY !
2. TdEUSRY-AT SRk Yearel Giefiedeh! 31¢f v ?

A) svefefior araiaT S B) eliee S i

C) TR TSI 0! D) ETgTE! shreul
3, Wieflel aTeFTeiet 3rqul wfdrsaeRTest a1 HIE@,

A) 3SR LTS Sheft ST OB 3178 g1 i e,

C) TS JTYSI HT . _ D) 3T SAYSIT Hd T
4, TTUTR B Y768 WTeiIeeh! IV Jen e 311 df Feet 7

INRE RIEE B) fepnfarsior C) g D) 91
5. T ST Sl S SR e,

A) T Afofien et B) HHTTH SEd

C) UIgUAH! S IHTEAT D) TTerE ST et
6. Giefleeht Iua=H! I1eg zET.

A) Fi B) A C) FeA D) it
7. GAAT Ut AT A1 AR TART Sl

INEEE Bl B) WM C) Hehteh shall D) shHvft
8. TR e ISTl—IT ARl et TR ST,

A) TepHeh st B) IhHh s  C) O D) 9@
9. v, 7 Tt forerela gean fimmh 7 sreiitia weerh ST fea.

A) YTeeanil e ' B) feranfersiyor s

C) 3vrRf ST D) e s

10. Tt TR U0 HAQ T Il fShamaern 31ef s ?
A) Tpared B) a7 C) @ D) faered
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11. Ereferdeht gehrent Siet siord ?
A) =g 20-Fvfish fasor
C) TTE) 0] A TAT L0

12. ETeAieeh Teha=H 9 Ho 7

A) fem B) TR
13. @refietsht ffveaan ssasr wrse e,
A) ST B) w1 (%N

B) TSI dl0l-Gei&d ol
D) 3T SATU[=8TTSU] A0l

R,

C). & D) W%

C) Fea D) et

14, STEHETET AT B IR T PTG ST ?

A) e Rgmamm (o
C) far 3 Ao

B) atfererr g wop
D) Afera #imd 2

15. QietEm™ IR ISt g1 aETdid S aSEl.

A) Fad B) @Huft

C) e D) 3feHeh el

16. Choosecorrect Tense Form that is used in the following sentence.

We had been playing in the park.
A) Past perfect continuous tense

C) Present perfect continuous tense

17. Select grammatically correct sentence.
A) Karachi is Sindh’s seaport
C) The seaport of Sindh is Karachi

18. Which is correct use of verb ?

A) My brother lived in Mumbai since 1930

B) Past continuous tense

D) Past perfect tense

B) Karachi is the seaport of Sindh
D) The Karachi is Sindh’s seaport

B) My brother has lived in Mumbai since 1930

C) My brother is lived in Mumbai since 1930

D) My brother have lived in Mumbai since 1930

4-
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19. Name the correct clause bracket in the given sentence.
He is (much) obliged to you.
A) Noun clause B) Co-ordinatéclause

C) Positive adverb clause D) Adverb'elause of reason

20. Name conjunction from the sentence :
Ganesh does not care whether his wife goes‘out.of home.

A) whether B) his C) out of D) care

21. Nothing else travels so fast as light"(M’éke comparative and choose correct answer.)
A) Lightis traveler than any.other thing B) Light travels faster than anything else
C) Light is faster traveler than nothing D) Lightis travelers faster as anything

22. Which is correct useﬁoﬁ;@r’"pbosition ?
A) She is married With rich man B) She married with rich man

C) She is married to a rich man D) She had married with rich man

23. Sheis working in an exclusive male dominate domain. How this sentence can be written
by removing gerund ? Select correct from following.
A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain

D) None of these are correct

24. Rewrite the sentence by using proper conjunction.

Mohan was young, he went to Africa.
A) But Mohan was young, he went to Africa
B) When Mohan was young, he went to Africa
C) That Mohan was young, he went to Africa
D) Hardly Mohan was young, he when went to Africa

-5-
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26.

27,

29.

30.

L3

32.

28.

Choose the correct passive voice from the following sentences.

A) He was given a gift by Rita B) He gL\{Q{&ﬁift by Rita

C) He gave a gift by Rita D) Hewas giving gift to Rita
Choose the group of words which is most nearly‘the same in meaning as of the word :
Revolutionize .-"5( 4

A) Affectadversely - ‘“ ()"B) Develop gradually

C) Change drastically D) Illuminate completely

¢/

Which is correct use of adver‘l_a N
("
A) Honey is very sweet - B) Honey is too sweet
NN
C) Honey is so sweel, D) Honey is much sweet
€ N

Pick up correct seéntence.

A) When &ba meeting been start ? B) When the meeting would start ?

N

C) W@the meeting will be starting ? D) When the meeting will start ?

Choose the word from given words to fill in the blank to make the sentence meaningful.
No sooner he arrived then everyone up in his honour.

A) stood B) stands C) stand D) got
Complete the sentence by using a word from the following words :
The cashier the money and signed a receipt for it.

A) collects B) accepts C) counted D) receives
YA E-aT=AT ST SR I0TAT 31eR §YE A5 ¢
FHE : A :: TS ;7

A) TH B) d&cd C) 9vd D) @&¢
Iyt Faga mferet qof &
?o,éo,%éo,?)koo,@?o

A) 3%o B) 3¥%o C) 3No D) oo
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33, SEARET=T ST HUTh T Aget ?
2, ¢, R0, &Y, 234, 38
A) & B) 3 €% S
34, SIS 1% aA aﬁa.mmqﬁnﬁwa&ﬁﬁ,mﬁﬂzm@ﬁz&ﬁm@mﬁ?

A) IEA B) IW C) af‘m - D) I

35, UEHTER TR AT ALPHABETS 13758 23 3% {4 s¢ 3@ fereiett @@ W HEALTH 813153
e foridie ¢ '

A) ¥&9¥ B)\ ¥&2R6Y C) ¥&R¥Y¥ D) ¥&230Y¥
36. WM S faeiel Ufet ZHfm 4rm HERE

A) 3H B) liie C) difereet D) AEEH
37, Wrelieteh [ET uee e,

A) feaae B) GV C) &l D) gaH
38, ERTSTREN TTeft Ty WIS A 1 TSRS STl

A) F&H B) T C) wfrefient D) STE-TEA
39. fRm a1 Bl

A) TEH B) farsmy C) frea D) 3TEeel

40. 3,33,33%, .. AIHAN (s o1 e et TR SR St < oA ater &l PRt s
foret Adent ¢
A) 2R B) R0 C) 3% D) ¥

41, TEHTHIHT T STAND 81954 FGNAQ 311 forefiett 310 a T UgdiH TROLLY 713154
& fetered
A) GYSBYL B) GEBYYL C) GBEYLY D) GEYBLY
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42, @Tefd ATfeTshd SR 813 Yhd THddl G&AT 3EEl.
8¢o, WY, 330, %0¢, ¢¢, 8¢

A) 230 B) %0¢ C) ¢ \\ D) &

43, Tl erigelt TR e forea efiear aaTea =g . TS SgH 7 Yot AT faowe ST, T
gelta afrere 99 fordt ? '

A) LR B) t¢aY Cy 2o D) f4ay
44. @ﬁaﬁﬁqﬁmﬁmwﬁm&zﬁ?

2 3 g N
ba % v o F;ﬁ'c'
%o & @) r ?
A) & | B) & C) R D) R0
45. STAPTITUDRE = R48¥63 T QEEYEGR 3 TRV T 7
A) ALYITUDE B) ATTIRIBUTE C) ATTITUDE D) IR FURE AR
46. @refieryeh! v efig igHet Siuet TRUH Helge Sd ¢
A) IR B) el C) T D) w@gdie
47 . HOTETEAT YT Tt ST fehdt 3 7
A) ¥o TFh B) ¢ Tah C) 23TFh D) 3%2Fh
48. T TETEATET AT 3T HeEard.
A) TR 37dTe B) TR HHE
C) UrEfemurEEs D) HERH AH-FEHE
49, STCATETE AT ASRHE Yeff=ft g 2.
A) it B) SdmEEe=l C) Hge D) IFArAl
50. 7 el Fremrear snuR oW eraad foe Y, TR gt dead e Had
o,
A) IR B) &y C) HReHE D) fireerd
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51. OE YU gatd 7idt ueh

A) S B) e C) & D) B s
52. WETeiicieh ShToTeT TRTTHeS disrsIT U= 71eT BYay 7 |

A) HeRRT B) wicil C) 3TMRT D) T
53. EIeTEUehT ShIvTeT TITTH “ET-a=T AT 3T HeTUT?

A) T Feh U B) wftrama C) et D) "R
54. ETeAieTehl HTT STTEd STIe Jehe STEaR foham g« vt ?

A) 39 IEAHT B) SEciedT 3EEd

C) FNueT e D) A USAHT
55. UISIEHT SHUATA THUT,3 3 HUTeh STEAT. ATl HUTR HTAA STEAT.

A) ¥ B) oH C) o D) 3T
56. W%Q%L;g:ﬁﬂ«a RYOL B @ * >= 3] W =* x < > I PV TEAT Gxifereft 3112 ?

A) ¥4 B) ¥4\ C) ¥4 D) %9yl

57. ST 3¥x &9 = §¥93 AND 2&X Y% = UL AL ¥ x0& = 7

A) 8CEY B) ©¢¥g C) ¢9%g D) ¢q9y¥
58. I A1 HIHTBUATE 19 WiefieTish! hIvMeheH el SITd 7
A) FEFHG B) HT3THG, C) ST D) AR,

59. e, HeAmE o O dem TR, ImEwEn s sifFEe wig=nd e @ AT S
HIVTC HiE=ATd ST ?
A) 3@ B) @0 C) i D) W%

60. Freqt disres AR e Erefictish $13 89 7
A) &3 B) F&d C) freft D) wtar
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61.

62.

63.

64.

65.

66.

Sugar found in DNA is
A) Ribose
C) Deoxyribose

DNA H&3 TG0 JFR 3R
A) TI
C) feamfitaas

Energy store house of the cell is
A) Nucleus

gfter It WISk T HIvTd L
A) %3 (gaefag) B) Attt firg

Essential fatty acids arWﬂn
A) Proteins NN

N\
©) Carbohydrat.ps

Defieigncy of haemoglobin causes
A) Jaundice
C) Typhoid fever

eI e e S Hed 7
A) FEles
C) TAHIES A

Deficiency of insulin causes

A) Diabetes Mellitus
C) Jaundice

AT FHAAYS F S 7

A) TYHE
C) FEles

The main mediator of platelet adhesion is

A) Van Willebrand’s factor
C) ADP
TS HTHSHTE Y& HEad 0 7
A) =& faeemgy gk
C) wdidi

B) Golgi %cli}

B)
D)

Gluc%
All 0‘\ above

B)‘*@ﬂ%ﬂ
(‘“:I))f glieeh wd

©

&)

B)
D)

B)

Mitochondria D) Lysosomes

qERERET D) e

Fats
None of these

e

D) aiciehl FIvE ATel

B)
D)

B)

Anemia
All of the above

RS

D) Slieuehrad

B)
D)

B)
D)

B)
D)

B)
D)

-10-

Anemia
Hypertension

T
ST CehaTs

Thromboxane A2
Fibronectin

AT A,
FIESHFH
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67. LEcellisa
A) Basophil B) Neutrophil C) Lymphocyte D) Macrophage
LEU¥f 3118 9
A) st B) =g2fthet C) frmpmEe " D) THehIthsl
68. Lymphocytosis is found in all EXCEPT , y )
A) Mumps B) Diphthefia
C) Rubella D)_Infectious Mononucleosis
C) & “_)D) e Ay
69. Myeloma cells are produced in thq\‘v \’
A) Liver B) Spleen C) Bonemarrow D) Lymph nodes
RG] A AT TR gl _
A) T B) C) fedrHssT D) wiiter et
70. In myocardial infarctionCK-MB reaches to normal levels in
A) 24 hrs | B) 72 hrs C) 1 week D) 2 weeks
AT SER e T - une HE) FHTRT T GEaT.
A) 24TE B) 72 C) 13measl D) 2 3m3as
71. Temperature control is very important in this instrument
A) Inéubator B) Centrifuge
C) Microscope D) Fluorescent microscope
AT IUHTITHE AT FRIT01 T HET STHd ;
A) TR B) HEw
C) TR D) W AR
72. After exposure to blood the PEP should be started within
A) 2days B) 2 hours C) 6 hours D) 24 hours
g1 I igdt O =Te] U €.
A) 2 feam B) 2d® C) 6d™ D) 24d™
73. Which of the following is a carbohydrate ?
A) Glucose B) Fatty acid C) Amino acid D) Cholesterol
GTefertsh! ShIvTd FHE RS T8 7 .
A) TR B) %I tHte C) 3MEAItHie D) Hicedd
74. Which disease is spread by mosquitos ?
A) Jaundice B) Anemia C) Typhoid D) Malaria
TS AT TSR T8l ?

| A) i B) digim C) TAREE D) Tt
| -11-
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75. Oilisa
A) Protein B) Fat
C) Carbohydrate D) None of these
o .
A) 9éH B) g\ <
C) FERHESS D) ~aftateht SR A
76. The working table of the laboratory should bé ¢lganed and disinfected using
A) 2% Glutenaldehyde B) 20% Sulphuric acid
C) 1% Sodium hypochorite D) 2% Betadine
ST FHTH FATET S I &red 1M1 Fisfegeh sorrer ga ?
A) 2% TSRS B) 20% TR Teie
C) 1% | gANHRE. D) 2% Serer
77. The glassware in the laboratory
A) Must be cleaned after use B) Sterilized after cleaning
C) Should be handled with care D) All of the above
TANTTSHEIE hreeaT I
A) AR oS FFATS €T B) WS- Hsige iEel &d
C) FHBSHgdeh g™ g D) aliee ad

78. Routine hand hygiene should be performed in which of the following condition ?
A) Before and after contact with patients
B) Before washing and after removed of gloves
C) After contact with blood of the patient
D) All of the above

Treftetsht smored fedrdied fardia e s sugar gdt ?

A) ST BT AT A1) F 7T B) guamaqi} 1ol weitest saeama
C) &A1 ThIel 81d AT H D) alietshl gd
79. Which colour bag is used for non-infectious waste ?
A) Yellow B) Red C) Blue D) Black
HESHTIE FETETS! VAT T ST TR HTET 7
A) fige B) @& C) fe D) &2l

:12-
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80. Regarding bio-medical waste handling which of the following is not correct ?
A) All waste can be collected in waste container
B) All waste should be segregated
C) All waste can be collected in black bags
D) None of the above

IR -HETehel el BTdTeEUaT Haford Wiefierishl s v 712

A) T FHE FHERTISHE TeT Shell ST Tohal
B) w& s fsrsfia shue gan |
C) |l e ShTeodT SITTHER TiteaT Shell TS Tkt
D) et shiore ATel '
81. How much blood is required for VDRL test
A) 3ml B) 8 ml €) 10 ml D) 20 ml
VDRL =r=rofiaret fordt T smmarsares ste ?
A) 3 Tt B) 8fieft - C) 10 fueh D) 20 fieft
82. “Standard precaution” are necessary. o be observed while handling which of the following
samples ?
A) Urine B)( Blood C) Stool D) None of the above
ICAieTehl hivd T BT ST arae s’ arem o S FEy ?
A) @t B) &h C) He™ D) SicToeht shioradt et
83. Which of the following disease are transmitted through blood ? :
A) Hepatitis B B) Hepatitis C
C) HIV ~ D) All of the above
WTCAICAUEhT =hI0TT SIS ThH Y SETR el ?
A) fafmB B) RdfdmC
C) HIV D) e wd

84. Which of the following protective barriers should be used while handlin g blood in the
laboratory ?

A) Mask B) Eyeshields
C) Gloves D) All of the above

TAITRTTGSHE T2h BTATesel STHTA1 ETetieroh! SRV JRETTeHeh ST UTel SHaerTs g4 ?
A) AT B) Imfies
C) Tarest D) slerehad

85. You can do which of the following activities in the laboratory ?

A) Drinking bevarages B) Eating vadapav
C) Chewing gum : D) None of the above

T TR Weliertiehl sIvrea Feft s STehelT 7
A) 93 Tt B) e @l

C) TH 9@y D) ghedehl shivraet ArE
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86.

87.

88.

89.

90.

91.

92.

93.

013-22 - I O

This enzyme level in serum increases after heart attack

A) SGOT B) CPK-MB C) LDH D) Alloftheabove
ferrmefiet 81 UrTeH Tt geaTedT FeHHW a1eal :

A) SGOT B) CPK-MB C) LDH D) sl &
Vit.K dependent coagulation factor are all EXCEPT

A) Factor II B) Factor VI C) FaetorVII D) Factor X

A) TTHII B) © VI ()5 VII D) ek X
A clinical laboratory may have the following sections

A) Clinical pathology ' B) Biochemistry

C) Microbiology D) All of the above
fRrefIeeTer ST e Wiefier fasTrT 7 wrehdrd

A) faiere datatst B) SAGHHES

C) ARGhETEATS D) adieriehi wd
Which samples are processed in routine clinical laboratory ?

A) Blood B) Stool C) Urine D) All of the above
Yo TR A e TeaTer SEvTees el Wi shefl S ? '

A) T B) HSM C) el D) aieeh e
In serelogical diagnosis which of the blood collection tubes are used ?

A) Plain B) EDTA C) Fluoride D) Heparin
ferrerTefiehet FIGFTHE SI0TCIT Teh T1ea1 U =T TeoA el AT Shedl STl ¢

A) wF B) EDTA C) IS D) BURA
The refrigerator works in the following temperature range of degree celsius

A) 2-8 B) 8 -20 C) 20-37 D) 37 - 100
it wrefierteh shioren ferft siemrean IsHes % ! ?

A) 2-8 B) 8 -20 C) 20-37 D) 37 - 100
If the pH of the solution is neutral then the pH will be

A) S B) 6 Q) 7 D) 8
ST pH SEEH e pH 318a

A5 B) 6 sy D) 8
Infectious waste is discarded in which bag ?

A) Red B) Blue C) Green D) Black
TehTHe el IV FETIE e HieTa ?

A) @& B) Fat C) D) =ial

-14-
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94.

9s.

96.

97.

98.

99.

100.

Dengueis transmitted by

A) Contaminated water B) Blood transfusion

C) Bite of mosquitos D) Bite of sandfly
<R AT ST gt

A) G qIof] B) GHEH

C) =3 = 1E0] D) aTeHfaert =mgot
Widal test is done for the diagnosis of which disease ? N

A) Weil’s disease B) 1B C) Cholerd/ y D) Typhoid

A) A5 ISR B) 1B C) gp D) TAIES
In Alkaptonuria there is a deficiency of

A) Homogentisic hydroxylase B) Homogentisic Acid

C) Phenylalanine hydroxylase D) All of the above
eI R <t ST .

A) BHHEH S eRIgias B) EMisRdR T e

C) FHATANTE TSRS D) St ad
Which virus is not transmittéd parenterally ?

A) HBV B) HCV C) HIV D) HEV
hYoraT fersTo] Gttt e € T ?

A) HBV B) HCV C) HIV D) HEV
ELISA test elpful during the diagnosis of diabetes mellitus to estimate

A) Glucose B) Glycogen C) Insulin D) Insulin receptor
ELISA =r=oft FIEUATHIS! HYHET=AT FamTeT 7aaH1d 3% .

A) IS B) TRIEhISH C) T¥gAH D) $gci freiee
Glycosyleted HB is estimated to

A) Screen diabetes mellitus B) Diagnose diabetes

C) Evaluate Glycemic control D) Find out complication in Kidney
TAIHH IS U= SFeMETE] 31E FHieal sial ?

A) TYHETER ST B) #yHeEr M

C) et feor gegie D) fredmeier sidieran st
The most reliable parameter to evaluate iron status in the body is

A) Serum iron level B) Serum ferritin level

C) Serum transferrine D) Total iron binding capacity
YRiTe SRTe ST HTevaTETe Hatd fare frawme o 7

A) T st &= B) T Sl =

C) T gt C D) 2 i SrEein wafad
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1. GETA IER AT SO A1 I Sramaerat svef @y 7
A) G B) 3T C) w@rd . D) faemd
2. @reliersht gehreh STl shiort ?
A) <1 301-ehufier fasror B) HHTSI h0I-geAel L0l
C) TS} L0 - 3T AT L0 D) 3Tl STSUT AT
3. WTATTUehT Teheret =119 S0 7
A) T B) 31T €) | D) S&
4. S TROY ke areseET gL faer.
A) EHTHE B9 B) & AU Bl
C) I HIgv D) @ugm
5. SdeYSIil- maaaaﬂﬂawm@aﬂaﬁaﬁ:ﬂﬁaﬁw?
A) aﬁaﬁwmwﬁ B) oed SR 19
C) IIFS.AETE FH0 D) WSS Fhiaul
6. G SR STquUt wirsaentedt a1 afiesan.
A) A TSI el 318, B) 31T STYSH H{ld gre.
C) TS ST il 3. D) TS TS I TR,
7. Eeliesh! FAfarauor st wse sfissar.
A) I B) Ha&l C) hesl D) e
8. ST THIT & TR 168 HITHTS! ST 7
A) stfaer fergr wmom ., B) eifdery gd aom
C) 3tferera <+ arop D) 3tfoRm #fiva A
9. Qe A THSAT AT AT ST 27T,
A) Hadl B) Huft C) Y[ D) 37ehHeh shadl
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10.

11

12.

13

14.

15,

16.

17.

18.

W@TUTR &1 Y68 WTetletdeh! shivfedT Fehia AR af feret ?

A) fame B) frfasemr ) wgefia D) &1
QTS IR FHadl T 9T 3.

A) Toi Afofien et B) HWTIT W

C) UTEUATH! e IHTEAT D) HIEEH TS Haedt
WTeATetteh! 3WaaeH-T I16g 3Tz

A) St B) Hi&t [8) 1 D) 2

A) 3FdF FHadl B) WE C) HahH FHall D) =t
R 9I9E ST -1 TR S e,

A) T HA By emdRFd  C) vl D) YA
TS, 4 Eeht foragte e fimmh 7 suiteta yeareh Sia e,

A) vreet 3TeaY B) fermferereor avea

C) IWATHA ST D) hacyn 37ead
Choose the correct passive voice from the following sentences.

A) He was given a gift by Rita B) He gives a gift by Rita

C) He gave a gift by Rita D) He was giving gift to Rita

Choose the group of words which is most nearly the same in meaning as of the word :

Revolutionize
A) Affect adversely B) Develop gradually
C) Change drastically D) Illuminate completely

Which is correct use of adverb ?
A) Honey is very sweet B) Honey is too sweet

C) Honey is so sweet D) Honey is much sweet
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19.

20.

21.

22.

23.

24.

25,

Choose correct Tense Form that is used in the following sentence.

We had been playing in the park.
A) Past perfect continuous tense B) Past continuous tense

C) Present perfect continuous tense D) Past pérfect tense

Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B‘-).' ‘Kﬁrachi is the seaport of Sindh
C) The seaport of Sindh is Karachi { DY The Karachi is Sindh’s seaport

Which is correct use of verb ?
A) My brother lived in Mumbai since 1930
B) My brother has lived infMumbai since 1930
C) My brother is lived,in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

Pick up correet.sentence.
A) Whefithe meeting been start ? B) When the meeting would start ?
O) When the meeting will be starting ? D) When the meeting will start ?

Choose the word from given words to fill in the blank to make the sentence meaningful.

No sooner he arrived then everyone up in his honour.

A) stood B) stands C) stand D) got

Complete the sentence by using a word from the following words :

The cashier the money and signed a receipt for it.

A) collects B) accepts C) counted D) receives

Name the correct clause bracket in the given sentence.
He is (much) obliged to you.
A) Noun clause B) Co-ordinate clause

C) Positive adverb clause D) Adverb clause of reason
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26.

7.

28.

29.

30.

Name conjunction from the sentence :

Ganesh does not care whether his wife goes out of home. _

A) whether B) his C) out of NM D) care

0 &
Nothing else travels so fast as light (Make comPa{wve and choose correct answer.)

A) Light is traveler than any other thing B)(tig“ht travels faster than anything else

C) Light is faster traveler than nothing/™ s&) Light is travelers faster as anything

Which is correct use of preposition™

A) She is married with rich maﬁ ) B) She married with rich man
C) She is married to a ricﬁ mlan D) She had married with rich man
\ T A 4

She is working in an’aéxtiusive male dominate domain. How this sentence can be written
by removing ge,_rﬁlﬂ ? Select correct from following.

A) She :we;rk in an exclusive male dominated domain

B) She;iprks in an exclusive male dominated domain

C) She worked in an exclusive male dominated domain

D) None of these are correct

Rewrite the sentence by using proper conjunction.

Mohan was young, he went to Africa.
A) But Mohan was young, he went to Africa
B) When Mohan was young, he went to Africa
C) That Mohan was young, he went to Africa

D) Hardly Mohan was young, he when went to Africa

31. Erelieehl v Ty sfgaa afue o Hele S ¢

A) 9rRTE B) el C) aFd D) Tgdfe

AL L1
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32 R ST e e weor famet ed ?

A) ¥o TFh B) ¢ T¥h C) 23T D) 3%%F
| 33. T TETEATET TAAT FH Hagard. N\
| A) GoRgite 3Hie B) w3
| C) TR TR D) HERHaTE-FEE
34, ATCHEHHE A1 ALHE ﬁsﬁa"tg&ﬁ@ﬁ
A) Efier= B) Jawed=ar [ \C) dge D) FFareal
35. o T P e G draem R Y, e gaiied dead@rn wad
e
A) FIH B). ®ufHed C) TEeEH D) fiesd
36. S L334 FEURN + x — <& SH6C B @ * >= 3R W= * x < > T HIVI e Sferedt 31 7
A) ¥R4cw B) ¥4s¢ C) ¥4 D) %84

37. SR 3¥x 8 = GIOTAND RExX % = REUF T YCx W& =7

| A) SCE¥ B) WY& C) C9¥& D) ¢EwY
¥ 38. TN At WINTEEUATS M Gielicieh! HIuhgd ol S 7
| A) FEFHG B) HIBTHg C) =draq D) ddRss,
39, mm,ﬁaqﬁmfﬂwf%mﬁwaﬂ%.mma@qnﬁmﬂmmmmm
Tfg=md e ?
A) 3TN B) &0l C) wwiefd D) 3
40. Freugit e Ui e @rcfiateh! $is aid ?
A) &34 B) d&d C) fwsft D)
41. WHEA sAfaeten ufgen S arm LS
A) A B) ehic C) uffereet D) TEEH

42. el fagTd ge .
A) fEme B) U C) tEen D) JawH




=

43.

44.

45.

46.

47.

48.

49.

50.

51.

013-33 VD AT A

weRTeITE Teft e TS e I TRATTERS STl

A) & B) C) Tierefiam, D) AR
EEu A3 Bl L7

A) WA B) fasmy g) sifereE D) FEIeEl

3,33,333, ... WHAH uamm%ggﬁj%aﬁﬁmmmaﬁmaﬁa
et 3 7

A) R B) .\ Y OYRe D) ¥
%r

uﬂﬁmwﬁmmmﬁs‘a?
FEHC AW TS : U
,\"B)aaa C) wd D) @z

e e gt o .

Ro, Lop 260, ?, 400,830

A) TH \

A) 3o B) 3¥o C) 3o D) 3o

W feETeT St ot wea ge 7

?7,¢, 0, &Y, 234, 3§

A) & B) 3 C) 2 D) ¥

HSTd 43 JISTel 3R, q e qfvem faen erafadr, o firfie s fawg fewm sivrd 7
A) arIeg B) IW C) e D) 3

UhT Hishfaeh YT¥d ALPHABETS 8178 § 2 3% 4 &\s¢ 31T ferdier /el at HEAL TH &1 7%
a1 fodidie ?

A) ¥&I9Y B) ¥&23u¥ C) ¥&L¥Y D) ¥&%3uy
ST Hiehfereh W STAND &1 9158 FGNAQ 3747 fereiett 318iet ot &= U4 TROLLY B1¥°
e foere 7

A) GYSBYL B) GEBYYL C) GBEYLY D) GEYBLY

—————r—i—_—
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52, Tl HiieTha GHAS 213 YIehd Ao G @l

240, 4Y, 830, R0¢, ¢¢,9¢ _
A) %30 B) R0¢ C)iso : D) ¢

53, T e TS e R et e e €. SIS o Hefen S foe .
T gefal 31Tl a3 fofelt 7
INREEL] B) ¢y QY &y D) 4au
54. Wl ST SRR ST 1o G asd ¢
%3 3 Q ¥
¢l R ¥ 3z )
3o ¢ & 7
A) & B) 2& C) R D) R0
55. STAPTITUDE = 24& %633 T $EE¥EWR 3 TEUN T ¢
A) ALTITUDE B) ATTRIBUTE
C) ATTITUDE D) Aehl ShI0TE ATEl
56. A TRITS Fatd Arat et
A) TR B) I&d C) & D) HIS S
57. TTelteteh! VT UMTHes disresiT defie re €l ?
A) Tl B) et C) ST D) e
58, @leleTIeh! Sh1UTe UITE ‘B T T8 HaIerdrd ¢ _
A) T ek T B) Hftama C) HET D) HERM
59. TETelieTeh! HTOTCT SHaEdd HTe THeRed STTHieR for e v ?
A) 3¥ FEAHT B) SHSICAT 3TEEAd
C) e T D) STH YesdHT
60. TSTEAT SHUFTA TRUT 33 HORR STHAN. TIh! HUTh T STEAT.

A) §d B) C) T D) 3T
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61. How much blood is required for VDRL test ?
A) 3ml B) 8 ml C) 10 ml D) 20 ml
VDRL sreviard) frdt o smavass 3w ?
A) 3 Toeh B) 8 ficht C) 10 : D) 20 Tt

62. “Standard precaution” are necessary to be observed w@mndlmg which of the following

samples ?
D) None of the above

A) Urine B) Blood Stool
A) st Byw U0 dem D) S HIRE el
63. Which of the following disease areﬁ@nsmltted through blood ?

A) Hepatitis B - \‘ B) HepatitisC
C) HIV D) All of the above

wrefterdh FHIor m@@ e deh 7
A) RafdmB A B) fedfedmcC
C) HIV SO D) atieteh e

64. Which of thq{&ll ing protective barriers should be used while handling blood in the

laborato

\ B) Eyeshields

A) \ ¥

C). Gldves D) All of the above

ANTRITS S T BTaTesd STEaiT GTeliehish! 0T GUaTedsh ST ITer FHUaere & ?
A) AT B) 3mfRES

C) Teltest D) aliciehiad

65. You can do which of the following activities in the laboratory ?

A) Drinking bevarages B) Eating vadapav
C) Chewing gum D) None of the above

T ST WTeflerieh! ShioTedT Ficl! shie YIshall ¢
A) 7 fior B) aEME @l
C) TH =& D) aierdehl orE AT

66. The working table of the laboratory should be cleaned and disinfected using

A) 2% Glutenaldehyde B) 20% Sulphuric acid
C) 1% Sodium hypochorite D) 2% Betadine

TR ST SHOATE Soiet hTH =0 0T FAsiqen e ga ?
A) 2% TIATSERS B) 20% Towgiish GHiS
- Q) 1%9‘1@.‘1@3@#@2 D) 2% S8
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67. The glassware in the laboratory

A) Must be cleaned after use B) Sterilized after cleaning
C) Should be handled with care D) All of therabove
ERIUNICL PRI ket
A) IR o HUAATE ged B) WG Fsiges shmen g
C) hic3SiYdeh BTTes e 8 D) Altedeh! ga

68. Routine hand hygiene should be performed in which of the following condition ?
A) Before and after contact with patients
B) Before washing and after removed, of gloves
C) After contact with blood of the patient
D) All of the above

wreftersh! ot fedrdined, Famf erareh wresar s g ?

A) BT &1 Ao STl ek B) tuaratret S1ifi| ielies g
C) =1 TRISAT BTl e al D) sl gd

69. Which colour bag s used for non-infectious waste ?
A) Yellow B) Red C) Blue D) Black
JTESHTTR YRS Sh0TeqT T ST AT T 7
A) Tt B) & C) fe D) whicsl

70. Regarding bio-medical waste handling which of the following is not correct ?
A) All waste can be collected in waste container
B) All waste should be segregated
C) All waste can be collected in black bags
D) None of the above

AT - HEehet el BT Ga o Wieflerdeht s 2w et ?
A) 9 FEU FETUAGE) a1 el ST T

B) & ser fawsfia strrer gt

C) |d e shTcsAT STTHE TIe3T Shell ST I1ehall

D) sRictshl shiorae AT
71. Sugar found in DNA is
A) Ribose B) Glucose
C) Deoxyribose D) All of the above
DNA W& 3@@UIRI IR 3R
A) TS B) TghIST

C) et D) sedehad

T
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72

73.

74.

73,

76.

Tt

78.

013-33

. Energy store house of the cell is

A A A

A) Nucleus B) Golgibody C) Mitochondria D) Lysosomes
Yefis) Tt HTEEIH T U ?

A) E (RAE) B) et fig O) A D) dEEnE
Essential fatty acids are found in

A) Proteins B) Fats

C) Carbohydrates D) None of these
AT B UEE 41 0 ATESdTd

A) W B) We

C) FERHESH D) alicitishl shivrde! ATel
Deficiency of haemoglebin causes

A) Jaundice B) Anemia

C) Typhoid fever D) All of the above
Reireisli=a] Sty e ued ¢ :

A) Fefie B) WigliT

C) TFHES T D) el

Deficiency of insulin causes

A).Diabetes Mellitus B) Anemia

C) Jaundice D) Hypertension
Yl HAIS 1 Ted ¢ :

A) TYHE B) Wiglm

C) Wi D) e

In Alkaptonuria there is a deficiency of

A) Homogentisic hydroxylase B) Homogentisic Acid

C) Phenylalanine hydroxylase D) All of the above
FehIIg T < SRl 3TEd.

A) B TR S B) BHISHEH GETe

C) it BTG ERieIst D) aterieh Ta

Which virus is not transmitted parenterally ?

A) HBV B) HCV C) HIV D) HEV
Hrora o] ettt i Bid AT 7

A) HBV B) HCV C) HIV D) HEV

ELISA test may be helpful during the diagnosis of diabetes mellitus to estimate

A) Glucose B) Glycogen C) Insulin D) Insulin receptor
ELISA ==t T HYETe FIET et Hea e I T
A) TTHIS B) TS C) YA D) e fEieet

49
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79. Glycosyleted HB is estimated to

A) Screen diabetes mellitus B) Diagnose diabetes
C) Evaluate Glycemic control D) Find out complication in Kidney
TAEHIE oS TelaT TSt STaTST Shi@eT SiTa
A) TeiETE BT B) mgier fam
C) TR THeh R gedie D) fredie siéiear oo
80. The most reliable parameter to evaluate iron status in the body.1s
A) Serum iron level B) Serum ‘:‘f:l{tfni level
C) Serum transferrine D) Total iron binding capacity
YRR e ST SrevaTETe gata et Ry ?
A) form sma & B) e i v
C) form gkl D) 2izet e arsein e
81. Temperature control is very important inthis ‘instrument
A) Incubator B) Centrifuge
C) Microscope ( D) Fluorescent microscope
AN IJTHITHER AT F=10T BT A 7 :
A) TREH B) AR
C) W XTI D) WREE HAZhIER
82. After exposure to blood t'hev_PEP should be started within
A) 2 days _\"B) 2 hours C) 6 hours D) 24 hours
A) 2 Teag B) 24 C) 6d™ D) 24d™
83. Which of the following is a carbohydrate ?
A) Glucose B) Fatty acid C) Amino acid D) Cholesterol
GeATeTeh! 10T FETEESE T8 7
A) RIS B) el uEie C) IWEAIGEE D) Heed
84. Which disease is spread by mosquitos ?
A) Jaundice B) Anemia C) Typhoid D) Malaria
HSUHES VT ATIR JEal 7
A) FEle B) Wigl C) TABES D) wafar
85. Oilisa
A) Protein B) Fat
C) Carbohydrate D) None of these
& AR,
A) W= B) W
C) FETERSE D) St HIvRE T

T

e —— —
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86.

87.

88.

89.

90.

21.

92

93.
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The refrigerator works in the following temperature range of degree celsius

A) 2-8 B) 8 -20 C) 20-37 D) 37 - 100
Uhisttet @refiartshl sioren feull smmean smed s et ¢

A) 2-8 B) 8-20 C) 20-37 + N D) 37 - 100
If the pH of the solution is neutral then the pH will be ~

A) 5 B) 6 £ 2 D) 8
STV pH 33 S18ead pH 318 74

A) S B) 6 CN7 D) 8
Infectious waste is discarded in which bags2(/

A) Red B) Blue C) Green D) Black

A) a B) Pt -\ C) femar D) el
Dengue is transmitted by ¢ N\ =

A) Contaminated water « '\~ B) Blood transfusion

C) Bite of mosquitos D) Bite of sandfly
g e ST g

A) gwmaEaoft _\ N B) GhIYH

C) Hest FmEvi D) aTcHi&ERT =&

Widal test is done for the diagnosis of which disease ?

A) Weil's~disease  B) TB C) Cholera D) Typhoid
fererer areft @refieteht wvmen e fam Fwardt wef s ?

A) A3eH TN B) TB C) e’ D) TAHES
This enzyme level in serum increases after heart attack

A) SGOT B) CPK-MB C) LDH D) All of the above
Terermelier 81 U=ngH Wi g1 FEHIH dTedl

A) SGOT B) CPK-MB C) LDH D) et gd
Vit.K dependent coagulation factor are all EXCEPT

A) Factor II B) Factor VI C) Factor VII D) Factor X
fe8e. K srasia aieheH ush Gieflciieh! Ueh avresdl §d 31ed

A) 9% 11 B) ®Z% VI C) "% VII D) "e&h X
A clinical laboratory may have the following sections

A) Clinical pathology B) Biochemistry

C) Microbiology D) All of the above
e v ST e Wiefte fawm g vt

A) fFeriene duiersh B) WAL

C) ARG D) afieshlvd

-14-
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94. Which samples are processed in routine clinical laboratory ?

A) Blood B) Stool C) Urine D) All of the above
shioreat Fg=iar Fadia frdfieamerdia s m e wiwa et s ?
A) T B) HeH C) @ D) atierdehl wd
95. Inserological diagnosis which of the blood collection tubes are used ?
A) Plain B) EDTA C) Fluoride B) Heparin
A) & B) EDTA C) Wgs ) D) ¥
96. The main mediator of platelet adhesion is g “
A) Van Willebrand’s factor B) Tkgcmboxane A,
C) ADP D)\Fibronectin
WAERNE SATESHTS T HETEd hivl 7 ?
A) 5 Rieames ue SOV v,
C) wErdt \k‘@ D) FEEHEH
97. LEcellisa N
A) Basophil B)@@lrophil C) Lymphocyte D) Macrophage
LE ¥ft 3178 )
A) it B)» =a2ifteet C) framme D) Harhst
98. Lymphocytosis igi;ﬁg'd}]d in all EXCEPT
A) Mumps B) Diphtheria
C) Rubelta.y, D) Infectious Mononucleosis
fermrmR i Erefietshl v arresa aaiied s@esdl
A) T[S () B) fewafen
C) el D) HshHeh BHgfaTsTEE
99. Myeloma cells are produced in the
A) Liver B) Spleen C) Bone marrow D) Lymph nodes
AT el IHE TaR BiaTd
A) TFd B) Tt C) ey weem D) iR et
100. In myocardial infarction CK-MB reaches to normal levels in
A) 24 hrs B) 72 hrs C) 1 week D) 2 weeks
AT Eae ShiaeHed dieh-uns e YN E0Tdd QerEdrd.
A) 24TW B) 72 ™ C) 13m3aer D) 2 33as

-15-
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(EETIETCIEE T ) (&1 shHTeR Seafeha forgmT)
Fradt : R T
TR Tt Roe
U Wt THAGTRTT T
IUGHARAT FoAT
L. = wRAg R 100 gt Jerre I 3R,
2. weT gE BvargE] STwH. ST yorreltet Serafen F sy et amaesa fieu simam.
3. W HIESa AR gEaTd 9 FH INGaRA AT G SEEl.
4. SHGIRH 1 JHIErRaRie dor Ierufshel oo FuT Hiesqds Trmeard 9 Har eyt

e o 9 A we) FE. et ST wifed) SHeaRH Saaterd ffeet o ¥ quwm

5. oA Hrefauamgdt wessiigde arend.

6. Seeh ST 4 SETATR Iw Rt sRa cnte w wata A sw iRk wm.

7. 4w IR ferfevarane STafrerer Heftr RAsHIR R el dgeiih! Ar T e age e I
Hufo! HTesAT Sietie- SM.

8. Wehal WA AT WISTETS FUATH fehall Uil 9T aTRvamd o 7R, Uehal fesiel 3w deao) a8
THicfEm wt T,

9. % e IWEE! 2 01 & efiet. ehwrewss o Juara A4 A, CHE ek ader gon
FIT ST WISTETS Fhetel! e a1 Sate o1 e s .

10. 9.8, 61 9 100 9 feomedia werrat o7d. 9o afisher waideh) Trd) o SUSiIq shivreare! fagma sraem

11. sed &M FOETE! TgfEhd Qe fiereft ST T, Iwafiear e w1 &% T2,

12. wegfeqerer a8= Iarafehat adt el sraearsh G se wliare e Hueat aite ) aHdehhe
Y T, T aren e W s gg .

13. oeamET wWiarE 9o giediat e FEETmRT ST war A,
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1. Ereiesh Fifraaot srsasH e AEl.

A) ST B) Tl C) &1 D) e
2. ITEHET WIS BT HAAHRIH Y168 hIVTETS! ATIATT ¢ ,.
A) Frfererr forgw wTom B) e e
C) srferer 3t o D) st wE
3, Wﬂwmmﬁawmh O
A) B) wHHUf o R D) 37 el
4. AT o€t AT AT AR ST AT
A) FeHe B) SR\ C) HehHeh Hatl D) HHfl
5. R AL IS -1 T JGR A a1
A) Gt Hadl B) ad® .  C) FHufl D) vl
6. TS, et et gz firmeh ? sreitelia yrearsh s e,
A) :rra@rrﬂaa‘em B) famafarsiou ez
C) vt S D) ety S1e
7. ETUTR &1 Y758 WTetieiieh! sh1vrel Jepicat 1 1 Haet ?
A) Torame B) feranfersrsor C) srgETed D) o1
8. WTeliel STERITqH Tl TN a1 3@l
A) T afmfien Semas B) #H1E Hd
C) TEUHHI TSt IR D) HreEH SrTET Hded
9. Wieficiieh! IHTaHH1 YIsg ATSEl.
A) F B) Hit C) FeS D) 2
10. S TROT fFeo-a aresErET 9 3 et
A) THHH &0l B) UTEH HHTH 101

C) I9aT Hreu D) GYEY
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11.

12.

13.

14.

15.

16.

17.

18.

19.
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TUETSHN -1 AR Tear @refierdshi 37ef shiorar ?

INEELEILRICI G | B) WTed SITUTR Sh1H

C) 9% T84S H| D) g Fre

Tefiel arRIdre srqut wikereTet a st | C

A) 3TTEH YT el . B) 3118 aqst w{id el

C) 3T TSI Hild 3. D) 37§ g HId TR,
mmmmmmmﬁ@wm?

A) G¥hared B) wmel) ¢ wm D) faegef
et e e w7

A) = Z0r-avfies it B) HHTEIET S0~ geiat 0l
C) TTE T - ST 10T D) 3T A0 HTE0T S0
@Tefterieh! TehaeH! I hivrd 7

A) fesm B) M C) | D) &

Pick.up correct sentence.
A) When the meeting been start ? B) When the meeting would start ?

C) When the meeting will be starting ? D) When the meeting will start ?

Choose the word from given words to fill in the blank to make the sentence meaningful.

No sooner he arrived then everyone up in his honour.

A) stood B) stands C) stand D) got

Complete the sentence by using a word from the following words :

The cashier the money and signed a receipt for it.

A) collects B) accepts C) counted D) receives

Which is correct use of preposition ?
A) She is married with rich man B) She married with rich man

C) She is married to a rich man D) She had married with rich man
-4-
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20. She is working in an exclusive male dominate domain. How this sentence can be written

by removing gerund ? Select correct from following.

21.

22;

23.

24.

25.

A) She work in an exclusive male dominated domain
B) She works in an exclusive male dominated domain
C) She worked in an exclusive male dominated domain

D) None of these are correct

Rewrite the sentence by using proper conjungction,
. J

Mohan was young, he went to Africa.
A) But Mohan was young, he weq;_tarl;ﬁiéa
B) When Mohan was young, he ‘\Ncﬁt to Africa
C) That Mohan was young, he went to Africa

D) Hardly Mohan was.-yt}ung, he when went to Africa

Name the correc%{la‘we bracket in the given sentence.
He is (much) obliged to you.
A) Nounglause B) Co-ordinate clause
C) Positive adverb clause D) Adverb clause of reason

Name conjunction from the sentence :

Ganesh does not care whether his wife goes out of home.

A) whether B) his C) out of D) care

Nothing else travels so fast as light (Make comparative and choose correct answer.)
A) Light is traveler than any other thing B) Light travels faster than anything else

C) Lightis faster traveler than nothing D) Light is travelers faster as anything

Choose correct Tense Form that is used in the following sentence.
We had been playing in the park.
A) Past perfect continuous tense B) Past continuous tense
C) Present perfect continuous tense D) Past perfect tense
L85
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26. Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi D) ThéKarachi is Sindh’s seaport

27. Which is correct use of verb ?
A) My brother lived in Mumbai since(1930
B) My brother has lived in Mumbai(since 1930
C) My brother is lived in Mumbaiisince 1930
D) My brother have lived in Mumbai since 1930

28. Choose the correct passive voice from the following sentences.
A) He was givena gift by Rita B) He gives a gift by Rita
C) He gaye agift by Rita D) He was giving gift to Rita

29. Chooséthe group of words which is most nearly the same in meaning as of the word :

Revolutionize
A) Affect adversely B) Develop gradually

C) Change drastically D) Illuminate completely

30. Which is correct use of adverb ?

A) Honey is very sweet B) Honey is too sweet

C) Honey is so sweet D) Honey is much sweet
31. A SR wata |Jidt ueh

A) SR B) Jhd C) &4 D) T3 IS
37, Eefierieh! shivreT WIS disrs=T aefi=n re gial ?

A) T B) eI C) ST D) F
33, Wiefierieh! eI T BTRE=T 4T 318 Helead ?

A) T e T B) @@ C) e D) HERM

=62
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34, Eielieiieh! HIVTT STEEd e TR STfHieR fohm 3 wedl ?

A) 39 SAGAHT B) SEcied aEdd
C) FoRie 3T D) TR YesH
35. VEAT SHUaTd THYT 33 HUIH STEAT. Al U TG AT,
A) 9 B) @ C) ‘@u D) =R
36, TR TG STAND &1 368 FGNAQ 3781 et 3riet o) e dgefd TROLLY 81318
=y forgmt ? '
A) GYSBYL B) GEBYYL C) GBEYLY D) GEYBLY

37, Weltel HTfeTdhd THET 813 WA JHOd) G ST,
L0, 1Y, 830, %0¢, £L,\9¢8

A) %30 B) R0¢ L) £l D) ¢
38, rer el SRy e Hetre e Shue 8. TSt ST 3 Hefre ST fioqe 311e.
oA ssRaY fondt ?
INREE:L B) g¢ay C) &9 D) 4o
39, WA AT SR STt h1ord) T Ade ?
R 3 2 ¥
¢ Q ¥ 3¢
%o <l Y ?
A) & B) 2% ey D) R0
40. STAPTITUDE = g4&¥1933 A LEE¥E6R 3 TEUS 1 7
A) ALTITUDE B) ATTRIBUTE C) ATTITUDE D) I1hY FHIVTRT TR

41. WeATeRT=AT ST SHI0TT ST&R THE A5 ¢
S A TSE : 7

A) TR B) &d C) a9 D) @a¢<
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42, i e g e ot

R0, ¢0,%¢0, 7, 400, 630

A) 3%o B) 3¥o C)_ 3% D) 3oco
43, weRmerean i ol e e 7 D

7, ¢, R0, &Y, 134, 26
A) & B) 3 \\ C) % D) ¥

44, TSAATE 7S I 3=, m%%qﬁ%uﬁsna@ﬁﬁmﬁﬂzwﬁmﬁmm?
A) IFHF B) 3w C) efdqor D) 3y

45. U1 HTh{de Y ARPHABETS 819158 3 3% 4&e¢ 31T fordien /@@ @ HEALTH 19152
a?m%ﬁl?ﬁ”g N
A) ¥EIRGY B) ¥&33¥ C) ¥Ewo¥ D) ¥&%3o¥

46. SR L33 TEUN + X — < T R¥OL B @ * >= AR W= * x < > I HIVI| GEAT ¥ifarel! 3= 7
A) ¥4l B) ¥4wl¢ C) ¢¥34s D) ¥oc4R

47. S I¥xKY = E¥OI AND RE XY = JEUL AU ¥ExWE = 7

A) \s¢EY B) 6(¥E C) ¢o¥& D) ¢EuY
48. IR Al HTHTSUETR 6TH Wieflerieh! ShIvTehgd el SITd ¢
A) TEH HY B) WIBTHE C) T D) FdHsS]

49. 3FET, HEATET o AR SR TR, SAETET S 311 wiERTd et a HEETE S I
Hfg=ra wre ?

A) 3TN B) #TEl C) iyt D) WS
50. Tt aieresn 9 e et F3 8n ?
A) &1 B) I C) et D) wiEr

N R, P ——
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51. HHEM sHfaee afgen Hi gw BTEA.

A) M B) lwie C) difereeX D) REH
52. el R T S, |

A) femrae B) €U C) &= D) gaw
53, SeRTII et Te v HisT=r= 7 - mszmamtﬂ?ﬁ

A) =& B) T C) Ticreftat D) AEEA
54, FgRm__ am@EEl

A) TEH B) Ty C) sfera D) el

55. 3,33,333, ... TR WL HE fore e st heft o omen el W S sl
fopelt e 7 .
A) R B) Ro C) 3% D) R¥

56, TR RV TofiY steas sfue v Hellte ST ?

A) oTRTE B) witel C) TFd D) wigiie
57. HTURATeAT SRR TehaTe! SHTOT feheft S7erd ¢

A) ¥o TFh B) ¢ TFh C) 23T D) 3% TFh
58, AT TETEATEI TAT 318 e,

A) TERf TEte B) T IS

C) IR gREAES D) EEH TE-FEHE
59. ATCSTEHE AT ATSTHE Ueffeht 7 Bld.

A) iU B) =AmEE=Al C) #g=Al D) Jharedl
60. A T Frmrea ST o7 SRaee fdt oY, T gt caa g e herd

feptaa.

A) FIR B) St C) FReEd D) firesié
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61

62.

63.

64.

65.

66.

67

68.

. This enzyme level in serum increases after heart attack

A) SGOT B) CPK-MB C) LDH D) All of the above
fermmeier 71 C=e TR geaTaT eRH M ATedl

A) SGOT B) CPK-MB C)/LDH - D) FeuhiEd
Vit.K dependent coagulation factor are all EXEEPT

A) Factor II B) Factor VI &) Factor VII D) Factor X
fo8e. K 3tareislid HTshei ©eeh WieleTigh e aTesal §d 3iTed

A) "2 11 B) ©Z®h Y1 C) <& VI D) 9% X

A clinical laboratory may havesthe following sections

A) Clinical pathology B) Biochemistry

C) Microbiology ~ D) All of the above

A) Tererfisret deeish B) STRIhHES

C) [ D) afeehiad

Which sample‘s are processed in routine clinical laboratory ?

A) Bleed, ™ B) Stool C) Urine D) All of the above
1O T =rier FrRrfia ferefearerfi svTeTTes e Wik et ST ?

A)TF B) GsM™ C) ot D) SR ad
In éerological diagnosis which of the blood collection tubes are used ?

A) Plain B) EDTA C) Fluoride D) Heparin
RreTsiiehel FEFTHEY IV Toh TieT SHua e T =T ST9L Shell STl ¢

A) T B) EDTA C) RES D) sufm

The refrigerator works in the following temperature range of degree celsius

A) 2-8 B) 8-20 C) 20-37 D) 37 - 100
ThRE Wiefierteht shioreat ferft sfurrean tsmed e sl ?

A)2-8 - B) 8-20 C) 20-137 D) 37 - 100
If the pH of the solution is neutral then the pH will be

A) 5 B) 6 Ci 7 D) 8

STETUTT pH 3T 3T pH 38

A) S B) 6 % B8 D) 8
Infectious waste is discarded in which bag ?

A) Red B) Blue C) Green D) Black
TehTHeh el IV eI e STeTal ¢

A) & B) et C) fewan D)

-10-
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69.

70.

71.

7.

74.

3.
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Dengue is transmitted by

A) Contaminated water B) Blood transfusion

C) Bite of mosquitos D) Bite of sandfly

A) gsh1Heh utoft B) GHYH

C) HES ATe0) D) -t ferent =merot
Widal test is done for the diagnosis of which Qiséase ?

A) Weil’s disease B) TB (). Cholera D) Typhoid
foreret st wrefterdsh) v sTerE e soamEE el St ?

A) d5H TR B) TB C) wHial D) ZA%IEE
The main mediator of platelet"adhesion is

A) Van Willebrand’s faetor B) Thromboxane A,

C) ADP . D) Fibronectin
AN TSI T GO hiv ?

A) A faersvgaEds B) UI=AA,

C) wEidt D) ERSHFN
LE cell is @

A) Basophil B) Neutrophil C) Lymphocyte D) Macrophage
LEWftemR |

A) SEif B) =pgifther C) ferprmse D) Hahlthst

. Lymphocytosis is found in all EXCEPT

A) Mumps B) Diphtheria

C) Rubella D) Infectious Mononucleosis
e fan areiateh ush aea gatas sesal

A) TS (HFH) B) fewaifen

C) & D) Gghmeh mgfateieid
Myeloma cells are produced in the

A) Liver B) Spleen C) Bone marrow D) Lymph nodes
R HS ATHEL TIR el

A) FFd B) witar C) e A D) wiirept ueft
In myocardial infarction CK-MB reaches to normal levels in

A) 24 hrs B) 72 hrs C) 1 week D) 2 weeks
RIS St Heh-uwsh T T TR T,

A) 24 a9 B) 72a™ C) 1 3m3ael D) 237348
=
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76. Temperature control is very important in this instrument

A) Incubator B) Centrifuge
C) Microscope D) Fluoresgént microscope
1 IYHMHER AT R0 BR HeET 3bd
A) TR B) &
C) HIHERY D)~ JAK e HTHhIERT
77. After exposure to blood the PEP should be started within
A) 2 days B) 2 hours " AC) 6 hours D) 24 hours
A) 2w B) 24 C) 6dM D) 24dM
78. Which of the following is a earbohydrate ?
A) Glucose B) Fany acid C) Amino acid D) Cholesterol
aTelierteR R FEETIRE M 7
A) FHS »B) HtHe C) FMENTHE D) HeEd
79. Which disease is'spread by mosquitos ?
A) Jaundice * B) Anemia C) Typhoid D) Malaria
TR VAT TR Tl
A) FE= B) 9iglm C) TEAHES D) wafan
80. Oil isa
A) Protein B) Fat
C) Carbohydrate D) None of these
LS IR,
A) FEH B) Wq
C) FEEESE D) aicitehl shivrde! el
81. The working table of the laboratory should be cleaned and disinfected using
A) 2% Glutenaldehyde B) 20% Sulphuric acid
C) 1% Sodium hypochorite D) 2% Betadine
TSI 1 SFUATE dae haTA Tes T1for fsfqes shuset & 7
A) 2% TIATCSEES B) 20% TRy THie
C) 1% GrEaT eIhRIEe D) 2% SeTeRA
82. The glassware in the laboratory
A) Must be cleaned after use B) Sterilized after cleaning
C) Should be handled with care D) All of the above
SRS et F=21 g .
A) TRHR TS FOIEATE 8l B) weaadat fAslqe sEen &
C) FZSHgE BTaSEe g D) =it ad
A2
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83. Routine hand hygiene should be performed in which of the following condition ?
A) Before and after contact with patients
B) Before washing and after removed of gloves
C) After contact with blood of the patient .
| D) All of the above

@refierdeht v fedrdines frata grarh wesar stae e 7

| A) FOITAT BT vt STl F o B) g} aifir weliest shiaeamean
C) FT=H1 THICAT B1d AeIH T Dy et ud
84. Which colour bag is used for non-infectiou$ waste ?
A) Yellow B) Red C) Blue D) Black
| ST FAFTHIS! I TT ST FET 7
| A) gt B) el C) e D) e

85. Regarding bio-medical waste handling which of the following is not correct ?
A) All waste can be cellected in waste container
B) All waste should.besegregated
C) All waste can be.eollected in black bags
D) None of theé-above

4 TR - N et SheRT BT v Gl @refierieh) S v et 7

A) Hd FHH FEATIINE BT Hell SIS IIhall
B) i e Rt e g
C) ¥ U AT STHEY Tes1 Shefl SIS Yiehal
D) afierteh! shioret et
86. Sugar found in DNA is
A) Ribose B) Glucose
’ C) Deoxyribose D) All of the above
DNA HE 1G0T YR 3112
A) TFES B) @ISl
C) feamsfiretsr D) aticteht|d
87. Energy store house of the cell is '
A) Nucleus B) Golgi body C) Mitochondria D) Lysosomes
et IS HTEavE T HIvw ?

A) F3 (FgFeiad) B) it fig C) "SRR D) eiamEmy

=3
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88. Essential fatty acids are found in

A) Proteins B) Fats

C) Carbohydrates D) None of these

Tavas %l GHlg A1 Hed readid

A) T B) We

C) FEERSHE D) =iz BRG]
89. Deficiency of haemoglobin causes

A) Jaundice B) ~Anemia

C) Typhoid fever D)\ All of the above

Rt e Yes 1 78 ¢ ANV

A) FEis . B) uigl

C) TAHISS ald ~ D) aRicrieht
90, Deficiency of insulin causes _ (,

A) Diabetes Mellitus B) Anemia

C) Jaundice @ D) Hypertension

T e AT HY TS ¢ :
5 S v
C) hiefes D)

91. In Alkaptonuria there is a deficiency of

A) Homogentisic hydroxylase B) Homogentisic Acid
C) Phenylalanine hydroxylase D) All of the above
IR AT = shwaTar 3.
A) B g st B) WIS UHs
C) IS gl oS D) aeiehigd
92. Which virus is not transmitted parenterally ?
A) HBV B) HCV C) HIV D) HEV
spioran feremo] Weeteft i gid e ?
A) HBV B) HCV C) HIV D) HEV
93. ELISA test may be helpful during the diagnosis of diabetes mellitus to estimate
A) Glucose B) Glycogen C) Insulin D) Insulin receptor
ELISA =it RS eETeA FeFTeUH HeaHd 38 Y.
A) TIHIS B) TATIhISH C) 3¥gH D) 3Gt et
94. Glycosyleted HB is estimated to
A) Screen diabetes mellitus B) Diagnose diabetes
C) Evaluate Glycemic control D) Find out complication in Kidney
TARRIECIS T HTETd! STaT e Sl ?
A) HYAETET BT B) myHEr fHeH
C) TeATIh{Te A0 AT D) frefmehie sréteran wem
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96.

o7,

98.

o

100.

The most reliable parameter to evaluate iron status in the body is

A) Serum iron level B) Serum ferritin level

C) Serum transferrine - D) Total iron binding eapacity
IR ATETe JHTOT AT Tatd ferragi s shora ?

A) R e =) B) fam %ids &

C) T Tt D) 21 TR Sige i FUfdl
How much blood is required for VDRL test ?

A) 3 ml B) 8 ml C) 10ml D) 20 ml
VDRL Fr=vitEra fohdt Tk Teses o ?

A) 3 fueh B) 8 fiehi @)1 faett D) 20 fueft

“Standard precaution” are necessary 1o be observed while handling which of the
following samples ?

A) Urine B) Blood C) Stool D) None of the above
GTeATeTdeh! hivTd T BIATSaE] - S GraefRi=’’ I ol ST1evaes 318 ?

A) @l B)Y'T% C) HeM™ D) et vt el
Which of the followingdisease are transmitted through blood ?

A) Hepatitis B B) Hepatitis C

C) HIV D) All of the above
QI IeTdh! ShTUICH SHTSTR TohTHE JETid el ?

A) B B) fRdfdmcC

C) HIV D) gliedeht ad

Which of the following protective barriers should be used while handling blood in the
laboratory ?

A) Mask B) Eyeshields

C) Gloves D) All of the above
TANTITSHEY TTh BTATed STEHT Wl icieh v GUailcish SuTe JIei gl ad ?

A) AR B) AWl

C) TSt D) S Ed
You can do which of the following activities in the laboratory ?

A) Drinking bevarages B) Eating vadapav

C) Chewing gum D) None of the above
T ST WTefterdeh! ShivTeaT Shef) 3 STehell ¢

A) U fooy _ B) ISME @O

C) 9 TE0 D) ahavehl shivae At
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